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What is corporate finance?	



  Every decision that a business makes has financial implications, and any 
decision which affects the finances of a business is a corporate finance 
decision. 	



  Defined broadly, everything that a business does fits under the rubric of 
corporate finance.	
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First Principles	
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The Classical Objective Function	



STOCKHOLDERS	



Maximize	


stockholder 
wealth	



	



Hire & fire	


managers	


- Board	


- Annual Meeting	



BONDHOLDERS	


Lend Money	



Protect	


bondholder	


Interests	



FINANCIAL MARKETS	



SOCIETY	

Managers	



Reveal	


information	


honestly and	


on time	



Markets are	


efficient and	


assess effect on	


value	



No Social Costs	



Costs can be	


traced to firm	
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What can go wrong?	



STOCKHOLDERS	



Managers put	


their interests	


above stockholders	



	



Have little control	


over managers	



BONDHOLDERS	


Lend Money	



Bondholders can	


get ripped off	



FINANCIAL MARKETS	



SOCIETY	

Managers	



Delay bad	


news or 	


provide 	


misleading	


information	



Markets make	


mistakes and	


can over react	



Significant Social Costs	



Some costs cannot be	


traced to firm	
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Who’s on Board? The Disney Experience - 1997	
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A Market Based Solution	



STOCKHOLDERS	



Managers of poorly 	


run firms are put	


on notice.	



	



1. More activist	


investors	


2. Hostile takeovers	



BONDHOLDERS	


Protect themselves	



1. Covenants	


2. New Types	



FINANCIAL MARKETS	



SOCIETY	

Managers	



Firms are	


punished	


for misleading	


markets	



Investors and	


analysts become	


more skeptical	



Corporate Good Citizen Constraints	



1. More laws	


2. Investor/Customer Backlash	
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6Application Test: Who owns/runs your firm?	



Look at: Bloomberg printout HDS for your firm	


  Who are the top stockholders in your firm?	


  What are the potential conflicts of interests that you see emerging from this stockholding 

structure?	



Control of the firm

Outside stockholders
- Size of holding
- Active or Passive?
- Short or Long term?

Inside stockholders
% of stock held
Voting and non-voting shares
Control structure

Managers
- Length of tenure
- Links to insiders

Government

Employees Lenders

B HDS Page	


PB Page 3-12	
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Splintering of Stockholders ���
Disney’s top stockholders in 2003	
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Tata Chemical’s top stockholders in 2008 	
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First Principles	
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What is Risk?	



  Risk, in traditional terms, is viewed as a ‘negative’. Webster’s dictionary, for 
instance, defines risk as “exposing to danger or hazard”. The Chinese symbols 
for risk, reproduced below, give a much better description of risk	



	


	


	


	


  The first symbol is the symbol for “danger”, while the second is the symbol 

for “opportunity”, making risk a mix of danger and opportunity. You cannot 
have one, without the other.	





Aswath Damodaran! 13!

Alternatives to the CAPM	



The risk in an investment can be measured by the variance in actual returns around an 
expected return

E(R)

Riskless Investment Low Risk Investment High Risk Investment

E(R) E(R)

Risk that is specific to investment (Firm Specific) Risk that affects all investments (Market Risk)
Can be diversified away in a diversified portfolio Cannot be diversified away since most assets
1. each investment is a small proportion of portfolio are affected by it.
2. risk averages out across investments in portfolio
The marginal investor is assumed to hold a “diversified” portfolio. Thus, only market risk will 
be rewarded and priced.

The CAPM The APM Multi-Factor Models Proxy Models
If there is 
1. no private information
2. no transactions cost
the optimal diversified 
portfolio includes every
traded asset. Everyone
will hold this market portfolio
Market Risk = Risk 
added by any investment 
to the market portfolio:

If there are no 
arbitrage opportunities 
then the market risk of
any asset must be 
captured by betas 
relative to factors that 
affect all investments.
Market Risk = Risk 
exposures of any 
asset to market 
factors

Beta of asset relative to
Market portfolio (from
a regression)

Betas of asset relative
to unspecified market
factors (from a factor
analysis)

Since market risk affects
most or all investments,
it must come from 
macro economic factors.
Market Risk = Risk 
exposures of any 
asset to macro 
economic factors.

Betas of assets relative
to specified macro
economic factors (from
a regression)

In an efficient market,
differences in returns
across long periods must
be due to market risk
differences. Looking for
variables correlated with
returns should then give 
us proxies for this risk.
Market Risk = 
Captured by the 
Proxy Variable(s)

Equation relating 
returns to  proxy 
variables (from a
regression)

Step 1: Defining Risk

Step 2: Differentiating between Rewarded and Unrewarded Risk

Step 3: Measuring Market Risk
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Inputs required to use the CAPM - 	



§  The capital asset pricing model yields the following expected return:	


Expected Return = Riskfree Rate+ Beta * (Expected Return on the Market Portfolio - 

Riskfree Rate)	


§  To use the model we need three inputs:	



(a)  The current risk-free rate	


(b) The expected market risk premium (the premium expected for investing in risky 

assets (market portfolio) over the riskless asset) 	


(c) The beta of the asset being analyzed. 	
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What is the riskfree rate?	



  The Indian government had 10-year bonds 
outstanding, with a yield to maturity of 
about 7% on May 2009.  At the time, the 
Indian government had a local currency 
sovereign rating of Ba2. The typical default 
spread for Ba2 rated country bonds in May 
2009 was 3%.	



  The riskfree rate in Indian Rupees is	


a)  The yield to maturity on the 10-year bond 

(7%)	


b)  The yield to maturity on the 10-year bond + 

Default spread (10%)	


c)  The yield to maturity on the 10-year bond – 

Default spread (4%)	
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Goverment Bond Rates in Euros	



2-year	



10-year	



For Disney in May 2009, we used the US treasury bond rate of 3.50% as the riskfree rate. 
Is that reasonable? What are we assuming about default risk in the US treasury?	





Aswath Damodaran! 16!

What is the equity risk premium?	



	

 	

 	

	


Historical 
premium!

 " Arithmetic Average" Geometric Average"
 " Stocks - T. Bills" Stocks - T. Bonds" Stocks - T. Bills" Stocks - T. Bonds"
1928-2011" 7.55%" 5.79%" 5.62%" 4.10%"
 " 2.22%" 2.36%"  "  "
1962-2011" 5.38%" 3.36%" 4.02%" 2.35%"
 " 2.39%" 2.68%"  "  "
2002-2011" 3.12%" -1.92%" 1.08%" -3.61%"
 " 6.46%" 8.94%"  "  "

January 1, 2012
S&P 500 is at 1257.60
Adjusted Dividends & 
Buybacks for 2011 = 59.29

In the trailing 12 months, the 
cash returned to stockholders 
was 74.17. Using the average 
cash yield of 4.71% for 
2002-2011 the cash returned 
would have been 59.29.

Analysts expect earnings to grow 9.6% in 2012, 11.9% in 2013, 
8.2% in 2014, 4.5% in 2015 and 2% therafter, resulting in a 
compounded annual growth rate of 7.18% over the next 5 years. We 
will assume that dividends & buybacks will grow 7.18% a year for 
the next 5 years.

After year 5, we will assume that 
earnings on the index will grow at 
1.87%, the same rate as the entire 
economy (= riskfree rate).

68.11 73.00 78.24 83.86

Expected Return on Stocks (1/1/12)  = 7.91%
T.Bond rate on 1/1/12 = 1.87%
Equity Risk Premium = 7.91% - 1.87% = 6.04%

63.54 Data Sources:
Dividends and Buybacks 
last year: S&P
Expected growth rate: 
News stories, Yahoo! 
Finance, Bloomberg

1257.60 = 63.54
(1+ r)

+
68.11
(1+ r)2

+
73.00
(1+ r)3

+
78.24
(1+ r)4

+
83.86
(1+ r)5

+
83.86(1.0187)
(r −.0187)(1+ r)5
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Country Risk: Look at a country’s bond rating and default 
spreads as a start	



  Ratings agencies assign ratings to countries that reflect their assessment of the 
default risk of these countries. These ratings reflect the political and economic 
stability of these countries and thus provide a useful measure of country risk. 
In May 2009, the local currency rating, from Moody’s, for India was Ba2. 
There are three ways in which this can be converted into a default spread:	



•  If the country has US $ or Euro denominated bonds, you can compare the interest 
rate on the bond to the US treasury bond rate (if US $) or the German Bund rate (if 
it is Euro).	



•  If the country a CDS spread, you can use the spread as a measure of sovereign risk.	


•  You can use the typical spread for the rating, based upon other rated countries, to 

estimate a spread for the country. In May 2009, this would have yielded 3%.	


  Many analysts add this default spread to the US risk premium to come up with 

a risk premium for a country. This would yield a risk premium of 9% for 
India, if we use 6% as the US risk premium and the default spread based on 
the rating.	
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Beyond the default spread	



  While default risk spreads and equity risk premiums are highly correlated, one 
would expect equity spreads to be higher than debt spreads. In fact, if we can 
estimate how risky the equity market is, relative to the government bond, we 
can scale up the spread.	



  Country Risk Premium for India in May 2009	


•  Standard Deviation in Sensex = 30%	


•  Standard Deviation in Indian government Bond = 20%	


•  Default spread on Bond = 3%	


•  Country Risk Premium (CRP) for India = 3% (21%/14%) =  4.50% 	


•  Total Risk Premium for South Africa= US risk premium (in ‘12) + CRP 	


	

 	

 	

 	

 	

 	

= 6% + 4.50% = 10.50%	
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Country Risk Premiums!
January 2012!

Angola	

 10.88%	


Botswana	

 7.50%	


Egypt	

 13.50%	


Mauritius	

 8.63%	


Morocco	

 9.60%	


Namibia	

 9.00%	


South Africa	

 7.73%	


Tunisia	

 9.00%	



Bangladesh	

 10.88%	


Cambodia	

 13.50%	


China	

 7.05%	


Fiji Islands	

 12.00%	


Hong Kong	

 6.38%	


India	

 9.00%	


Indonesia	

 9.60%	


Japan	

 7.05%	


Korea	

 7.28%	


Macao	

 7.05%	


Malaysia	

 7.73%	


Mongolia	

 12.00%	


Pakistan	

 15.00%	


Papua New 
Guinea	

 12.00%	


Philippines	

 10.13%	


Singapore	

 6.00%	


Sri Lanka	

 12.00%	


Taiwan	

 7.05%	


Thailand	

 8.25%	


Turkey	

 10.13%	


Vietnam	

 12.00%	



Australia	

 6.00%	


New Zealand	

 6.00%	



Argentina	

 15.00%	


Belize	

 15.00%	


Bolivia	

 12.00%	


Brazil	

 8.63%	


Chile	

 7.05%	


Colombia	

 9.00%	


Costa Rica	

 9.00%	


Ecuador	

 18.75%	


El Salvador	

 10.13%	


Guatemala	

 9.60%	


Honduras	

 13.50%	


Mexico	

 8.25%	


Nicaragua	

 15.00%	


Panama	

 9.00%	


Paraguay	

 12.00%	


Peru	

 9.00%	


Uruguay	

 9.60%	


Venezuela	

 12.00%	



Albania	

 12.00%	


Armenia	

 10.13%	


Azerbaijan	

 9.60%	


Belarus	

 15.00%	


Bosnia and 
Herzegovina	

 13.50%	


Bulgaria	

 8.63%	


Croatia	

 9.00%	


Czech Republic	

 7.28%	


Estonia	

 7.28%	


Georgia	

 10.88%	


Hungary	

 9.60%	


Kazakhstan	

 8.63%	


Latvia	

 9.00%	


Lithuania	

 8.25%	


Moldova	

 15.00%	


Montenegro	

 10.88%	


Poland	

 7.50%	


Romania	

 9.00%	


Russia	

 8.25%	


Slovakia	

 7.28%	


Slovenia [1]	

 7.28%	


Ukraine	

 13.50%	



Bahrain	

 8.25%	


Israel	

 7.28%	


Jordan	

 10.13%	


Kuwait	

 6.75%	


Lebanon	

 12.00%	


Oman	

 7.28%	


Qatar	

 6.75%	


Saudi Arabia	

 7.05%	


Senegal	

 12.00%	


United Arab Emirates	

 6.75%	



Canada	

 6.00%	


United States of America	

 6.00%	



Austria [1]	

 6.00%	


Belgium [1]	

 7.05%	


Cyprus [1]	

 9.00%	


Denmark	

 6.00%	


Finland [1]	

 6.00%	


France [1]	

 6.00%	


Germany [1]	

 6.00%	


Greece [1]	

 16.50%	


Iceland	

 9.00%	


Ireland [1]	

 9.60%	


Italy [1]	

 7.50%	


Malta [1]	

 7.50%	


Netherlands [1]	

 6.00%	


Norway	

 6.00%	


Portugal [1]	

 10.13%	


Spain [1]	

 7.28%	


Sweden	

 6.00%	


Switzerland	

 6.00%	


United Kingdom	

 6.00%	
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Estimating Beta: The Regression Approach	
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And another regression…	
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Determinants of Betas	
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Bottom up betas for Disney and SASOL	



  Disney is in four businesses, and we estimate the beta of each business	



Step 1: Start with Disney’s revenues by business.	


	


Step 2: Estimate the value as a multiple of revenues by looking at what the market value of 

publicly traded firms in each business is, relative to revenues.	


	

 	

 EV/Sales = 	



	


Step 3: Multiply the revenues in step 1 by the industry average multiple in step 2.	



	

 € 

Mkt Equity +Debt - Cash
Revenues
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Disney’s Cost of Equity	



  Step 1: Allocate debt across businesses	



	


  Step 2: Compute levered betas and costs of equity for Disney’s operating 

businesses.	



  Step 2a: Compute the cost of equity for all of Disney’s assets:	


Equity BetaDisney as company = 0.6885  (1 + (1 – 0.38)(0.3691)) = 0.8460	



	



Riskfree Rate = 3.5%	


Risk Premium = 6%	
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 Discussion Issue	



  Assume now that you are the CFO of Disney. The head of the movie business 
has come to you with a new big budget movie that he would like you to fund. 
He claims that his analysis of the movie indicates that it will generate a return 
on equity of 12%. Would you fund it?	


a)  Yes. It is higher than the cost of equity for Disney as a company	


b)  No. It is lower than the cost of equity for the movie business.	


What are the broader implications of your choice?	
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The bottom up beta for Tata Chemicals	



Unlevered betas for Tata Chemical’s Businesses	


Emerging Market companies	



	


	


	


	



Cost of Equity	


Rupee Riskfree rate =4%; Indian ERP = 6% + 4.51%	
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Estimating the Cost of Debt	



  If the firm has bonds outstanding, and the bonds are traded, the yield to 
maturity on a long-term, straight (no special features) bond can be used as the 
interest rate.	



  If the firm is rated, use the rating and a typical default spread on bonds with 
that rating to estimate the cost of debt.	



  If the firm is not rated, 	


•  and it has recently borrowed long term from a bank, use the interest rate on the 

borrowing or	


•  estimate a synthetic rating for the company, and use the synthetic rating to arrive at 

a default spread and a cost of debt	


  The cost of debt has to be estimated in the same currency as the cost of equity 

and the cash flows in the valuation.	
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Estimating Synthetic Ratings	



  The rating for a firm can be estimated using the financial characteristics of the 
firm. In its simplest form, we can use just the interest coverage ratio:	



Interest Coverage Ratio = EBIT / Interest Expenses	


  For Disney and Tata Chemicals, we obtain the following:	



•  Disney = Operating Income/ Interest Expense = 6819/ 821 = 8.3	


•  Tata Chemicals = Operating Income/ Interest expense = 6,263/1215 = 5.15	
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Interest Coverage Ratios, Ratings and Default Spreads- Early 
2009	



Disney, Market Cap > $ 5 billion: 	

8.31  	

à 	

AA	


Tata: Market Cap< $ 5 billion: 	

5.15 	

à 	

A-	



Disney’s 
actual 
rating is A 
and the 
default 
spread is 
2.5%.	
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Current Cost of Capital: Disney	



  Equity	


•  Cost of Equity = Riskfree rate + Beta * Risk Premium 	

 	

 	



	

=  3.5% + 0.9011 (6%) =  8.91%	


•  Market Value of Equity = 	

 	

$45.193 Billion	


•  Equity/(Debt+Equity ) = 	

 	

73.04%	



  Debt	


•  After-tax Cost of debt =(Riskfree rate + Default Spread) (1-t)	


	

 	

 	

 	

=  (3.5%+2.5%) (1-.38) = 	

3.72%	



•  Market Value of Debt =	

 	

$ 16.682 Billion	


•  Debt/(Debt +Equity) = 	

 	

 	

26.96%	



  Cost of Capital = 8.91%(.7304)+3.72%(.2696) = 7.51%	



45.193/ (45.193+16.682)	
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Divisional Costs of Capital: Disney and Tata Chemicals	



Disney	


	


	


	


	


	


	


	


	



Tata Chemicals	
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Back to First Principles	
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Measuring Returns Right: The Basic Principles	



  Use cash flows rather than earnings. You cannot spend earnings.	


  Use “incremental” cash flows relating to the investment decision, i.e., 

cashflows that occur as a consequence of the decision, rather than total cash 
flows.	



  Use “time weighted” returns, i.e., value cash flows that occur earlier more 
than cash flows that occur later.	



The Return Mantra: “Time-weighted, Incremental Cash Flow Return”	
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Earnings versus Cash Flows: A Disney Theme Park	



  The theme parks to be built near Rio, modeled on Euro Disney in Paris and 
Disney World in Orlando.	



  The complex will include a “Magic Kingdom” to be constructed, beginning 
immediately, and becoming operational at the beginning of the second year, 
and a second theme park modeled on Epcot Center at Orlando to be 
constructed in the second and third year and becoming operational at the 
beginning of the fourth year.	



  The earnings and cash flows are estimated in nominal U.S. Dollars.	
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Step 1: Estimate Accounting Earnings on Project	



Direct expenses: 60% of revenues for theme parks, 75% of revenues for resort properties	


Allocated G&A: Company G&A allocated to project, based on projected revenues. Two 
thirds of expense is fixed, rest is variable.	


Taxes: Based on marginal tax rate of 38%	
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And the Accounting View of Return	



(a)  Based upon book capital at the start of each year	


(b)  Based upon average book capital over the year	
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Estimating a hurdle rate for Rio Disney	



  We did estimate a cost of capital of 6.62% for the Disney theme park business, 
using a bottom-up levered beta of 0.7829 for the business.	



  This cost of equity may not adequately reflect the additional risk associated 
with the theme park being in an emerging market. 	



  The only concern we would have with using this cost of equity for this project 
is that it may not adequately reflect the additional risk associated with the 
theme park being in an emerging market (Brazil). 	



Country risk premium for Brazil = 2.50% (34/21.5) = 3.95%	


Cost of Equity in US$= 3.5% + 0.7829 (6%+3.95%) = 11.29%	



We  multiplied  the  default  spread  for  Brazil  (2.50%)  by  the  relative  volatility  of 
Brazil’s equity index to the Brazilian government bond. (34%/21.5%)	



  Using this estimate of the cost of equity, Disney’s theme park debt ratio of 
35.32% and its after-tax cost of debt of 3.72% (see chapter 4), we can estimate 
the cost of capital for the project:	



Cost of Capital in US$ = 11.29% (0.6468) + 3.72% (0.3532) = 8.62%	
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The cash flow view of this project..	



	

	



To get from income to cash flow, we	


 added back all non-cash charges such as depreciation. Tax benefits:	



	


 subtracted out the capital expenditures	


 subtracted out the change in non-cash working capital	





Aswath Damodaran! 39!

The incremental cash flows on the project	



	


	


	


	


	


	


	


	


	



$ 500 million has 
already been spent & $ 
50 million in 
depreciation will exist 
anyway	



2/3rd of allocated G&A is fixed.	


Add back this amount (1-t)	


Tax rate = 38%	
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Closure on Cash Flows	



  In a project with a finite and short life, you would need to compute a salvage 
value, which is the expected proceeds from selling all of the investment in the 
project at the end of the project life. It is usually set equal to book value of 
fixed assets and working capital 	



  In a project with an infinite or very long life, we compute cash flows for a 
reasonable period, and then compute a terminal value for this project, which 
is the present value of all cash flows that occur after the estimation period 
ends..	



  Assuming the project lasts forever, and that cash flows after year 10 grow 2% 
(the inflation rate) forever, the present value at the end of year 10 of cash flows 
after that can be written as:	



•  Terminal Value in year 10= CF in year 11/(Cost of Capital - Growth Rate)	


	

 	

 	

 	

=692 (1.02) /(.0862-.02) = $ 10,669  million	
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Which yields a NPV of..	


Discounted at Rio Disney cost 
of capital of 8.62%	
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First Principles	
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Debt: Summarizing the trade off	
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Mechanics of Cost of Capital Estimation	



1. Estimate the Cost of Equity at different levels of debt: 	


Equity will become riskier -> Beta will increase -> Cost of Equity will 

increase.	


Estimation will use levered beta calculation	



2. Estimate the Cost of Debt at different levels of debt: 	


Default risk will go up and bond ratings will go down as debt goes up -> Cost 

of Debt will increase.	


To estimating bond ratings, we will use the interest coverage ratio (EBIT/

Interest expense)	


3. Estimate the Cost of Capital at different levels of debt	


4. Calculate the effect on Firm Value and Stock Price.	
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Finding an optimal mix:���
Disney’s cost of capital schedule…	
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���
Extension to a family group company:���

Tata Chemical’s Optimal Capital Structure	



Actual	



Optimal	



Tata Chemical looks like it is over levered (34% actual versus 10% optimal), but it is 
tough to tell without looking at the rest of the group.	
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A Framework for Getting to the Optimal	



Is the actual debt ratio greater than or lesser than the optimal debt ratio?"

Actual > Optimal"
Overlevered"

Actual < Optimal"
Underlevered"

Is the firm under bankruptcy threat?" Is the firm a takeover target?"

Yes" No"

Reduce Debt quickly"
1. Equity for Debt swap"
2. Sell Assets; use cash"
to pay off debt"
3. Renegotiate with lenders"

Does the firm have good "
projects?"
ROE > Cost of Equity"
ROC > Cost of Capital"

Yes"
Take good projects with"
new equity or with retained"
earnings."

No"
1. Pay off debt with retained"
earnings."
2. Reduce or eliminate dividends."
3. Issue new equity and pay off "
debt."

Yes" No"

Does the firm have good "
projects?"
ROE > Cost of Equity"
ROC > Cost of Capital"

Yes"
Take good projects with"
debt."

No"

Do your stockholders like"
dividends?"

Yes"
Pay Dividends" No"

Buy back stock"

Increase leverage"
quickly"
1. Debt/Equity swaps"
2. Borrow money&"
buy shares."
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Disney: Applying the Framework	



Is the actual debt ratio greater than or lesser than the optimal debt ratio?"

Actual > Optimal"
Overlevered"

Actual < Optimal!
Actual (26%) < Optimal (40%)!

Is the firm under bankruptcy threat?" Is the firm a takeover target?"

Yes" No"

Reduce Debt quickly"
1. Equity for Debt swap"
2. Sell Assets; use cash"
to pay off debt"
3. Renegotiate with lenders"

Does the firm have good "
projects?"
ROE > Cost of Equity"
ROC > Cost of Capital"

Yes"
Take good projects with"
new equity or with retained"
earnings."

No"
1. Pay off debt with retained"
earnings."
2. Reduce or eliminate dividends."
3. Issue new equity and pay off "
debt."

Yes" No. Large mkt cap & positive 
Jensen’s α!

Does the firm have good "
projects?"
ROE > Cost of Equity"
ROC > Cost of Capital"

Yes. ROC > Cost of capital"
Take good projects!
With debt.!

No"

Do your stockholders like"
dividends?"

Yes"
Pay Dividends" No"

Buy back stock"

Increase leverage"
quickly"
1. Debt/Equity swaps"
2. Borrow money&"
buy shares."
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Designing Debt: The Fundamental Principle	



  The objective in designing debt is to make the cash flows on debt match up as 
closely as possible with the cash flows that the firm makes on its assets.	



  By doing so, we reduce our risk of default, increase debt capacity and increase 
firm value.	



	



Firm Value

Value of Debt

Firm Value

Value of Debt

Unmatched Debt	

 Matched Debt	
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Designing Debt: Bringing it all together	



Duration	

 Currency	

 Effect of Inflation	


Uncertainty about Future	



Growth Patterns	

 Cyclicality &	


Other Effects	



Define Debt	

Characteristics	


Duration/	


Maturity	



Currency	


Mix	



Fixed vs. Floating Rate	


* More floating rate 	


- if CF move with 	


inflation	


- with greater uncertainty 	


on future	



Straight versus	


Convertible	


- Convertible if	


cash flows low 	


now but high	


exp. growth	



Special Features	


on Debt	


- Options to make 	


cash flows on debt 	


match cash flows 	


on assets	



Start with the 	

Cash Flows	

on Assets/	

Projects	



Overlay tax	

preferences	


Deductibility of cash flows	


for tax purposes	



Differences in tax rates	


across different locales	



Consider 	

ratings agency	

& analyst concerns	


Analyst Concerns	


- Effect on EPS	


- Value relative to comparables	



Ratings Agency	


- Effect on Ratios	


- Ratios relative to comparables	



Regulatory Concerns	


- Measures used	



Factor in agency	

conflicts between stock	

and bond holders	



Observability of Cash Flows	


by Lenders	


- Less observable cash flows 	


lead to more  conflicts	



Type of Assets financed	


- Tangible and liquid assets 	


create less agency problems	



Existing Debt covenants	


- Restrictions on Financing	



Consider Information 	

Asymmetries	

 Uncertainty about Future Cashflows	


- When there is more uncertainty, it	


may be better to use short term debt	



Credibility & Quality  of the Firm	


- Firms with credibility problems	


will issue more short term debt	



If agency problems are substantial, consider issuing convertible bonds	



Can securities be designed that can make these different entities happy?	



If tax advantages are large enough, you might override results of previous step	



Zero Coupons	



Operating Leases	


MIPs	


Surplus Notes	



Convertibiles	


Puttable Bonds	


Rating Sensitive	



Notes	


LYONs	



Commodity Bonds	


Catastrophe Notes	



Design debt to have cash flows that match up to cash flows on the assets financed	
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Designing Disney’s Debt	
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Analyzing Disney’s Current Debt	



  Disney has $16 billion in debt with a face-value weighted average maturity of 
5.38 years. Allowing for the fact that the maturity of debt is higher than the 
duration, this would indicate that Disney’s debt is of the right maturity. 	



  Of the debt, about 10% is yen denominated debt but the rest is in US dollars. 
Based on our analysis, we would suggest that Disney increase its proportion of 
debt in other currencies to about 20% in Euros and about 5% in Chinese Yuan.	



  Disney has no convertible debt and about 24% of its debt is floating rate debt, 
which is appropriate given its status as a mature company with significant 
pricing power. In fact, we would argue for increasing the floating rate portion 
of the debt to about 40%.	
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First Principles	





Aswath Damodaran! 54!

Assessing Dividend Policy	



  Step 1: How much could the company have paid out during the period under 
question?	



  Step 2: How  much did the the company actually pay out during the period in 
question?	



  Step 3: How much do I trust the management of this company with excess 
cash?	


•  How well did they make investments during the period in question?	


•  How well has my stock performed during the period in question?	
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How much has the company returned to stockholders?	



  As firms increasing use stock buybacks, we have to measure cash returned to 
stockholders as not only dividends but also buybacks.	



  For instance, for Disney and Tata Chemicals, we obtain the following	
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A Measure of How Much a Company Could have Afforded 
to Pay out: FCFE	



  The Free Cashflow to Equity (FCFE) is a measure of how much cash is left in 
the business after non-equity claimholders (debt and preferred stock) have 
been paid, and after any reinvestment needed to sustain the firm’s assets and 
future growth.	


Net Income	


	

+ Depreciation & Amortization	

 	

	


	

= Cash flows from Operations to Equity Investors	


	

- Preferred Dividends	


	

- Capital Expenditures 	

	


	

- Working Capital Needs	


	

- Principal Repayments	


	

+ Proceeds from New Debt Issues 	

	


	

= Free Cash flow to Equity	
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Disney’s FCFE	
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Disney’s actual cash returned…	
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5. Tata Chemicals: The Cross Holding Effect: 2009	



Much of the cash held back 
was invested in other Tata 
companies.	
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A Practical Framework for Analyzing Dividend Policy	



How much did the firm pay out? How much could it have afforded to pay out?"
What it could have paid out! What it actually paid out!
Net Income" Dividends"
- (Cap Ex - Depr’n) (1-DR)" + Equity Repurchase"
- Chg Working Capital (1-DR)"
= FCFE"

Firm pays out too little"
FCFE > Dividends" Firm pays out too much"

FCFE < Dividends"

Do you trust managers in the company with!
your cash?!
Look at past project choice:"
Compare" ROE to Cost of Equity"

ROC to WACC"

What investment opportunities does the !
firm have?!
Look at past project choice:"
Compare" ROE to Cost of Equity"

ROC to WACC"

Firm has history of "
good project choice "
and good projects in "
the future"

Firm has history"
of poor project "
choice"

Firm has good "
projects"

Firm has poor "
projects"

Give managers the "
flexibility to keep "
cash and set "
dividends"

Force managers to "
justify holding cash "
or return cash to "
stockholders"

Firm should "
cut dividends "
and reinvest "
more "

Firm should deal "
with its investment "
problem first and "
then cut dividends"
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Disney in 2003	



  FCFE versus Dividends	


•  Between 1994 & 2003, Disney generated $969 million in FCFE each year. 	


•  Between 1994 & 2003, Disney paid out $639 million in dividends and 

stock buybacks each year.	


  Cash Balance	



•  Disney had a cash balance in excess of $ 4 billion at the end of 2003.	


  Performance measures	



•  Between 1994 and 2003, Disney has generated a return on equity, on it’s 
projects, about 2% less than the cost of equity, on average each year.	



•  Between 1994 and 2003, Disney’s stock has delivered about 3% less than 
the cost of equity, on average each year.	



•  The underperformance has been primarily post 1996 (after the Capital 
Cities acquisition).	
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Can you trust Disney’s management?	



  Given Disney’s track record between 1994 and 2003, if you were a Disney 
stockholder, would you be comfortable with Disney’s dividend policy?	



  Yes	


  No	


  Does the fact that the company is run by Michael Eisner, the CEO for the last 

10 years and the initiator of the Cap Cities acquisition have an effect on your 
decision.	



  Yes	


  No	
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Following up: Disney in 2009	



  Between 2004 and 2008, Disney made significant changes:	


•  It replaced its CEO, Michael Eisner, with a new CEO, Bob Iger, who at least on the 

surface seemed to be more receptive to stockholder concerns.	


•  It’s stock price performance improved (positive Jensen’s alpha)	


•  It’s project choice improved (ROC moved from being well below cost of capital to 

above)	


  The firm also shifted from cash returned < FCFE to cash returned > FCFE and 

avoided making large acquisitions.	


  If you were a stockholder in 2009 and Iger made a plea to retain cash in 

Disney to pursue investment opportunities, would you be more receptive?	


a)  Yes	


b)  No	
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Summing up…	
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First Principles	
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The Ingredients that determine value.	
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Disney: Inputs to Valuation	
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Current Cashflow to Firm
EBIT(1-t)= 7030(1-.38)=    4,359
- Nt CpX=           2,101            
- Chg WC                         241
= FCFF                       2,017
Reinvestment Rate = 2342/4359

=53.72%
Return on capital = 9.91%

Expected Growth 
in EBIT (1-t)
.5372*.0991=.0532
5.32%

Stable Growth
g = 3%;  Beta = 1.00;
Cost of capital =7.95% 
ROC= 9%; 
Reinvestment Rate=3/9=33.33%

Terminal Value10= 4704/(.0795-.03) = 94,928

Cost of Equity
8.91%

Cost of Debt
(3.5%+2.5%)(1-.38)
= 3.72%
Based on actual A rating

Weights
E = 73% D = 27%

Cost of Capital (WACC) = 8.91% (0.73) + 3.72% (0.27) = 7.52%

Op. Assets   65,284
+ Cash:  3,795
+ Non op inv   1,763
- Debt             16,682
- Minority int   1,344
=Equity          73,574
-Options      528
Value/Share $ 28.16

Riskfree Rate:
Riskfree rate = 3.5% +

Beta 
0.90 X

Risk Premium
6%

Unlevered Beta for 
Sectors: 0.7333

Disney - Status Quo in 2009
Reinvestment Rate
 53.72%

Return on Capital
9.91%

Term Yr
7055
2351
4704

On June 1, 2009, Disney 
was trading at  $24.34 
/share

First 5 years
Growth decreases 
gradually to 3%

D/E=36.91%

Year 1 2 3 4 5 6 7 8 9 10
EBIT (1-t) $4,591 $4,835 $5,093 $5,364 $5,650 $5,924 $6,185 $6,428 $6,650 $6,850 
 - Reinvestment $2,466 $2,598 $2,736 $2,882 $3,035 $2,941 $2,818 $2,667 $2,488 $2,283 
FCFF $2,125 $2,238 $2,357 $2,482 $2,615 $2,983 $3,366 $3,761 $4,162 $4,567 

Cost of capital gradually 
increases to 7.95%
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Ways of changing value…	



Cashflows from existing assets
Cashflows before debt payments, 
but after taxes and reinvestment to 
maintain exising assets

Expected Growth during high growth period

Growth from new investments
Growth created by making new 
investments; function of amount and 
quality of investments

Efficiency Growth
Growth generated by 
using existing assets 
better

Length of the high growth period
Since value creating growth requires excess returns, 
this is a function of
- Magnitude of competitive advantages
- Sustainability of competitive advantages

Stable growth firm, 
with no or very 
limited excess returns

Cost of capital to apply to discounting cashflows
Determined by
- Operating risk of the company
- Default risk of the company
- Mix of debt and equity used in financing

How well do you manage your 
existing investments/assets?

Are you investing optimally for
future growth? Is there scope for more 

efficient utilization of 
exsting assets?

Are you building on your 
competitive advantages?

Are you using the right 
amount and kind of 
debt for your firm?
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Current Cashflow to Firm
EBIT(1-t)= 7030(1-.38)=    4,359
- Nt CpX=           2,101            
- Chg WC                         241
= FCFF                       2,017
Reinvestment Rate = 2342/4359

=53.72%
Return on capital = 9.91%

Expected Growth 
in EBIT (1-t)
.5372*.12=.0645
6.45%

Stable Growth
g = 3%;  Beta = 1.00;
Cost of capital =7.19% 
ROC= 9%; 
Reinvestment Rate=3/9=33.33%

Terminal Value10= 5067/(.0719-.03) = 120,982

Cost of Equity
9.74%

Cost of Debt
(3.5%+2.5%)(1-.38)
= 3.72%
Based on synthetic A rating

Weights
E = 60% D = 40%

Cost of Capital (WACC) = 9.74% (0.60) + 3.72% (0.40) = 7.33%

Op. Assets   81,089
+ Cash:  3,795
+ Non op inv   1,763
- Debt             16,682
- Minority int   1,344
=Equity           68621
-Options      528
Value/Share $ 36.67

Riskfree Rate:
Riskfree rate = 3.5% +

Beta 
1.04 X

Risk Premium
6%

Unlevered Beta for 
Sectors: 0.7333

Disney - Restructured
Reinvestment Rate
 53.72%

Return on Capital
12%

Term Yr
7600
2533
5067

On June 1, 2009, Disney 
was trading at  $24.34 
/share

First 5 years
Growth decreases 
gradually to 3%

D/E=66.67%

Cost of capital gradually 
decreases to 7.19%

Year 1 2 3 4 5 6 7 8 9 10
EBIT (1-t) $4,640 $4,939 $5,257 $5,596 $5,957 $6,300 $6,619 $6,909 $7,164 $7,379 
 - Reinvestment $2,492 $2,653 $2,824 $3,006 $3,200 $3,127 $3,016 $2,866 $2,680 $2,460 
FCFF $2,147 $2,286 $2,433 $2,590 $2,757 $3,172 $3,603 $4,043 $4,484 $4,919 
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First Principles	




